Efficiency vs Dxy(PV)
S‘0.0J E

0.

5 =30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TTbase

—e— DQM_mkFit_TT_retrainOldFiles125

—+— DQM_mkFit_TT_retrainNewFiles125

I Efficienc| —— DQM_mkFit_TT_retrainNewFiles125AndSQCD

< 0.5

>

efficiency vs dx
S

©

0.0!
Re]
T
o4
-1-0.8-0.6-04-02 0 02040608 1
TP dxy(PV) (cm)
s Ly :
o L N
§ f :
e i R R Gmpm = mm o m [
> B .
> I :
Q u .
© 0.8 P
8 [ :
= r N
15} o .
0.6f == neee Leees EE SRR PR Leeee
0.4 | FER
0.2f--e e CERREY 7 || AEET PR Feeees
° 10' i i i i
g
@
°'—30 -20 -10 0 10 20 30
TP dz(PV) (cm)
S 1. 5
[a
5
P D LEEEEEE R LR LT
2
>
Q
0 |
o
S
©
8
T
@

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


